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Task P1. Largest 

Given are N rectangles with sides parallel to the coordinate axes. Rectangles are defined by pairs of values that 

specify the lengths of their sides: (x1, y1), ..., (xN, yN). We can move the rectangles keeping them parallel to the 

coordinate axes, but not rotating them. Write the program Largest, which finds the largest set of rectangles in 

which there is no rectangle that can fit into another of the same set. The rectangle with sides (xi, yi) fits the 

rectangle with sides (xj, yj) when xi ≤ xj and yi ≤ yj. 

Input. The standard input contains the value of N, followed by N pairs of integers x1, y1, ..., xN, yN. 

Output. On a single line, your program prints an integer equal to the number of rectangles of the largest set. 

Constraints  

● 1 < N < 20 000 

● the lengths of the sides of the rectangles are positive integers less than 30 000. 

 

Example 1 

Input Output Explanation 
7 

1 3 

4 3 

5 1 

5 1 

3 4 

9 4 

1 1 

3 In the set of the three rectangles: (4,3), (5,1) and (3,4), 

no rectangle fits another. 

 

 

 


